
Pic de résonance 
du mode l=0 , m=1

∆݂ = 25,3 − 25,2 = 0,1 kHz
ݖܪ݇ à 25,29 ܿ݅݌

ܿ݊݋ܦ ∶ ܳ =
݂

∆݂
= 253

ܳ > 200 ⟹ ݁ܿ݊݁ܿݏ݁݊݅݉ݑ݈݋݊݋ܵ



Pic de résonance du 
mode l=0 , m=2

∆݂ = 51,2 − 50,9 = 0,3 kHz
ݖܪ݇ à 51 ܿ݅݌

ܿ݊݋ܦ ∶ ܳ =
݂

∆݂
= 170

ܳ < 200 ⟹ ݁ܿ݊݁ܿݏ݁݊݅݉ݑ݈݋݊݋ܵ ݁݀ ݏܽ݌



Pic de résonance 
du mode l=0,m=3

∆݂ = 77,3 − 76,9 = 0,4 kHz
ݖܪ݇ à 77 ܿ݅݌

ܿ݊݋ܦ ∶ ܳ =
݂

∆݂
= 193

ܳ < 200 ⟹ ݁ܿ݊݁ܿݏ݁݊݅݉ݑ݈݋݊݋ܵ ݁݀ ݏܽ݌



Pic de résonance 
du mode l=0,m=4

∆݂ = 100,6 − 100,2 = 0,4 kHz
ݖܪ݇ à 100,5 ܿ݅݌

ܿ݊݋ܦ ∶ ܳ =
݂

∆݂
= 251

ܳ > 200 ⟹ ݁ܿ݊݁ܿݏ݁݊݅݉ݑ݈݋݊݋ܵ
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